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Figure 9-2 Redistributive effect of taxation under different assumptions about incidence:
United States. (Source: Based on estimates given in Musgrave et al. (1974, p. 264.)

are two classes of consumer (with homothetic utility functions). This allows
us in particular to consider the criticisms made by Prest.2! Suppose that we
consider an infinitesimal excise tax, T, on sector X; the other sector, Y, is
untaxed and there are no other taxes. (The assumptions about government
revenue are those in Lecture 6.) In general, the tax leads to a change in
relative consumer prices (gy/qy). From the analysis of Lecture 6, this is
given by (from Eq. (6-11"))

dx—qy = 0*(b—P)+ Ty (-41)

*'In part these are directed at the use of the approach to calculate the effects of large
changes in taxes and spending. Thus, Prest (1968, p. 84) refers to the index number problem of
choosing between original and final prices. Although the studies described above have been
concerned with the total effect of the budget, it is marginal changes that are of particular
relevance in policy-making, and it is on these that we focus.
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Figure 4-2. Federal, State, and Local Transfers and Taxes as a Percent
of Market Income, by Population Percentile, 1980
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Source: Brookings MERGE file. For an explanation of the incidence variants see table 3-1.
a. Market income equals adjusted family income minus transfers.
b. Armayed by size of market incomes.
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